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— MULTIPLE CHOICE. (10*2%=20%) Choose the one alternative that best completes the staterent or answers
the question.

1. Company A and Company B operate in the same industry. Company B has a price to book value that is much higher than A's,

Both companies have price to book value ratios greater than one, Which of the following could explain this difference, all else

equal?

A. A uses less conservative accounting methods C. A has higher expected growth

B. A has lower expected future dividend payout D. A has many more shares outstanding ratio

2. Imagine FASB passes a new rule that required the capitalization of R&D. The effect for a drug company would be to:
A. Increase its current ratio C. Decrease working capital

B. Decrease debt/equity ratio D. Improve asset tumover

3. An analyst should treat preferred stock on a firm's balance sheet as debt when calculating leverage ratios if the preferred stock is:

A. redeemable by shareholders C. issued at a variable dividend rate
B. convertible into common stock D. callable by the issuer

4. Err Company has a major lawsuit against them for unsafe products. It recognizes a huge liability in 2004 of $300M. The effect
of this liability is to decrease stockholders' equity by 50%. In 2003, the effect of recognizing this liability, all else equal, is:

A. Return on net operating assets will increase dramatically

B. Return on net operating assets will decrease dramatically

C. Return on equity will increase dramatically D. Return on equity will decrease dramatically

5. Compared with firms with capital leases, firms with operating leases generally report:

A. higher cash flow from operations D. lower or higher cash flow from operations depending upon
B. lower cash flow from operations market interest rates

C. identical cash flow from operations

6. Which of the following statements concemning deferred taxes is correct?

A. Deferred taxes will not be found in asset section of the balance sheet.

B. Deferred taxes arise from permanent differences in GAAP and tax accounting.

C. Deferred taxes will only decrease when a cash payment is made.

D. Deferred taxes arising from the depreciation of a specific asset will ultimately reduce to zero as the item is depreciated.

7. Which of the following statements is incorrect? Employee stock options

A. are not recorded as an expense when granted if they are at or out-of-the money under the intrinsic value method.
B. will not affect the share price of the company when exercised.

C. may reduce agency cQsts by more closely aligning interests of stockholders and managers.

D. may increase the risk propensity of managers.

8. Which of the following is not a common characteristic of a company choosing to use LIFO rather than FIRO?
A. Larger inventory balances C. Greater expected tax savings
B. Higher variability in inventory balances D. Larger in size

9. Accounting income consists of all the following components except:

A. permanent component. C. value irrelevant component.
B. transitory component. D. temporary component.

10. If a company engages in off-balance sheet financing, generally the effect is:
1. to cause assets to be understated. 111. to increase cash flows.

II. to increase leverage ratios. e » IV. to cause liabilities to be understated.
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- True / False Questions. (5*1%=5%)

1. Earnings management uses acceptable accounting reporting principles for purposes of reporting specific results.
2. As cash is the most liquid of all assets and liquidity is crucial to a company, all companies should hold as much cash as possible,

3. If two firms are identical except that one firm uses percentage-of-completion accounting and the other uses completed contract -
accounting for revenue recognition, the cash flows of the firms will be identical,

4. If a company depreciates an asset at a faster rate for tax purposes than for financial reporting purposes this will give rise to a
deferred tax liability.

5. A bank with a loan to a company is generally exposed to greater risk than the shareholders of the company.
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E The CU Corporation makes wire connectors for the car industry. CU is uncertain about when and how many customer
orders will be received. The company produces connectors only after receiving firm orders from its customers. CU has
recently purchased a new machine to produce two types of wire connectors, one for X6 and the other for A8. The annual
capacity of the new machine is 84.5 hours. The following information is available for next year:

Annual Manufacturing [ Selling price perorder if | Variable cost Inventory 1

average’ . . average manufacturing per order. carrying cost :

CUSt_Oer number time required lead time per order is per order per j‘ 5
of orders hour .

Lessthan | More than '

10 hours 10 hours :

X6 15 4 hours $2,200 $1,940 $1,500 34
A% 2 5 ours 1,850 1,310 1,400 5 )ﬂ i

i
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(1} Compute the average manufacturing lead times per order if CU produces both X6 and A8. (7%)

(2) Managers are evaluating whether CU should (a) manufacture and sell only X6 or (b) manufacture and sel] both X6 and A8,
Which alternative will maximize the opetating income of CU? (8%)
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